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1 H,O,  KMnO,

2MnO, +5H,0, +6H"'——=2Mn"" +-8H, O+50, 4
N Mn()l Mn(,)z s

’ N

:MnO, + H,0,— MnO,+ O, 4,

@) :2MnO; +3H, 0, =—=2Mn0O, +30, 4
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:FeO!” =Fe(OH),,

D :FeO!” +3¢ ——Fe(OH),
@ :FeO;” +3¢ —Fe(OH), +50H
® :FeO!” +3¢ +4H,0 —>
Fe(OH), +50H"
:D
;@
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3 (2012 ,13 ) (3)
, N, O,
N, o

(DN, (g)+20,(9>=—=N, 0O, (D
AH,=—19.5 kJ *« mol*
()N, H, (D + 0, (g)=—=N, (g) +2H,0(g)

AH,=—534.2 k] + mol ™"
@) :2MnO; +3H,0, — N, O, L
2MnO, +30, 4 +20H"
® :2MnO, +3H,0, — .
2MnO, +30, A +20H +2H,0 .
2 (2012 , 26 ) @
MnO,—Zn ,K,FeO,—Zn 2N, H, +N,0, =—=3N, +4H,0
,K,FeO, , @
(2)X2—(1)
> H™ ,(3)
OH~ , 4 , , , ,
H' OH ,CO?
\ ,HCO; ,
R NaHCO, pH ,
CH,COONa HCO, , ,
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2N, H, (D+N, O, (D==3N, (g) +4H, O(g)

AH=AH, X2—AH, = —534.2 k] * mol '
X2—(—19.5 kJ « mol™") = —1048. 9 kJ -
mol ';

® 2N, H, (D +N,O, (D=—=3N, (g)

+4H,0(g) ; AH=—1048.9 k] + mol ',
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S

4 (2012 , 15 )
+B(g)=—=C(g) +D(g)

/°C 700 800 830 1000 1200

1.7 1.1 1.0 0.6 0.4

(2)830 C , 5 L
0.20 mol A 0.80 mol B, 6s A
v(A)=0.003 mol « L™" « 57",
6s (A=
mol; s A

mol « L7',C

’

1 mol , A o
v(A)=0.003mol « L™ <+ s7', 65

A c(A)=v(A)t=0.018 mol -
L=, A 0.2 mol/5 L—0.018
mol * L™'=0.022 mol « L™ ';A

0.018 mol « L' X5 L=0.09 mol,

C 0. 09 mol,
A o
) : 830C . A

¢ 31

A(g)+B(g)=—C(g)+D(g)

@)
(ol » L) 0.04 0.16 0 0
mol
(mol+ L") * * * *
(mol » L 1) 0.04—x 0.16—=x x x
mol « L

® K -

T (0. 04— (0. 16— 2)
x=0.032 mol/L; A a(A) =
0.032 mol » .71 /0. 04 mol « L™ X100% =80%

’

A 80 %,
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5 (2012 ,26 )
I,+2S,0:7 —=S,0; +2I
(3) “ ?
CuCl, « 2H,0O ( I~
) s 0.36 g
, KI s s o
0. 1000 mol/L Na,S, O, s
, Na, S, O, 20. 00 mL,
CuCl, * 2H,0 7
D :2Cu"" 417 =—=2Cul y +1,,
1,+2S,0;7 —=S,0;” +21"
@ : CuCl, 2H,O ~ 1,/2 ~
Na, S, O,
©) : CuCl, « 2H,0

w=1(0.1000mol « L™ X 0. 02000 L X
171 g/mol)/ 0. 36 g=95%
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